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Show your work! No calculators! Please draw a | box | around your answers!

Please do not write on your desk!

Name: Student No:

1. (4 pts.) Find the point where the line (f + 1, —t + 1, 3t + 4) intersects the plane
Jx + by — 2z = —8,
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2. (3 x 2 =0 pts.) Identify the following suwrfaces as an  ellipfical paraboloid, hyperbolic
paraboloid, a hyperboloid of one sheet, a hyperboloid of two sheets, a cone, a circular
eylinder, an elliptical cylinder. or a parabolic cylinder.

Identify the axis of symmetry as the x-axis, the v-axis. or the z-axis.
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3. (8 x 1 =8 pts.) Determine whether the following statements in Cartesian 3—space are
always true or false. Indicate your answers with the words TRUE or FALSE to the

left of the question. No explanations required.

e ['wo lines either intersect or are |m|r.'-=|.[1t'-I-

FALSE

e Two lines determine a unique plane.

EALSE
e Two lines perpendicular to a third line are parallel.
FALSE

e Two lines parallel to a third line are parallel.

TERE

e Two lines parallel to a plane are parallel.

FALSE

e Two planes either intersect or are parallel.
TEut

e Two planes perpendicular to a line are parallel,

TEue
e Two planes parallel to a line are parallel.

EALSE

4. (4 pts.) Find an equation of the plane that passes through the points P = (1,2, 3),
R =1(2,3.4), and R =(3,3.3).
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T X=-2y+z = 1-2243 = |-4+3 = O




